[bookmark: _GoBack]                                                        ASSIGNMENT – 8                                        [ UNIT – 8] CLASS – V                                     SUBJECT-MATH                              ROLL NO. ________        
1Q.Multiply:
      (a) 7 by            (b)  by 8             (c) 0 ×     
      (d)  by            (e) 1 by 18           (f) 3 × 2
2Q.Find:
       (a)   of 36            (b)  of              (c)  of a rupees = ____ paise
      (d)  of a Kg = ____ g                (e)  of 100 Km = ____ Km
3Q.Ravi had Rs.2000. He spends three tenths of it.Find:
1. How much money does he spend ?
1. How much money was left ?  
4Q.Find the reciprocal of:
       (a)  5           (b)          (c) 2        (d)  
5Q. Divide:
1.  by 49                              (e)    5 by 
1. 4 by 7                               (f)   11 by 7
1.  ÷ 3 ÷ 
1.  ÷ 72 ÷ 5


